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UNIT -1
. (@ Prove that the incremental rate curve intersects the heal rate curve at its mnimum valye (%)
()  Discuss different type of system constraints in detail (8
OR
I. (@) Describe the dynamic programming solution for unit commitment %)

(B A system consists of two plants connecied by a transmission line as show figure The load 1s & plant 2 The ransmissson

line loss calculations reveal that a transfer of 100 MW from plant L io\plant 2 means 2 loss of |15 MW Fmd the reguared
generation at each plant for A = 60 Assume that the incremental cosis of the two plants are grven by -
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UNIT -1
2. (a) Distinguish berween steady state. transient andvdynamic stability (6)
| @) In the system shown in Fig.. a three-phas€)static capacitive reactor of reactance 1 pu per phase s conmected through a

switch at motor bus bar. Calculate tHeimit of steady state power with and without reactor switch closed Recalculate the
power limit with capacitive reactor'replaced by an inductive reactor of the same value Assume the intemal voltage of the
generator to be 1.2 pu and that'af theé motor 1o be 1.0 pu

X <01 pu X =01 pu
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OR

2 Find the steady state power limit of a system consisting of a generator equivalent reactance 0 50 pu connected 1o an infinj
bus through a series reactance of 1.0 pu. The terminal voltage of the generator is held at | 20 Puand the voltage of the infinite
bus is 1.0 pu. s
®)  What conditions are to be satisfied for stable operation of a generation? -

UNIT-IN

(@) Find our equation fur:ri.tiulc!ﬂﬂn;mghifmmmhucmnmuundhlmhmm —_
lines in parallel and a fault occurs at the mid point of one of the paralle] lines. “'mm
Fut:mmmﬁg..bmhﬂrmhﬂmhgundinﬁnimhwmt,uw“h!mﬂni _
1.0 pu power. Calculate the critical clearing angle and the critical clearing time when the system is subjected 10 :;lj .PL..!
fault at point P (middle of the line) as shown in fig. Let H = S MJ/MVA -
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OR
What arc the factors which affect power system stability and methods to improve stability.

In the system shewn (figure), the generator is deliveri ng | pu power. The voltage behind transient reactance is1.05p d
infinite bus voltage in 1 pu the number on the diagram are the pu reactance on a common system bus. Calculate 5_ a
when the system is subjected to a 3—¢ fault of ponit P. Take H =5 MJ/MVA and = 50 Hz.
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UNIT-1V
What are the advantages and disadvantages of interconnected power systems.
Why reserve capacity is required at generating stations? What are various types of capacities used in p

systems?
* oR <
What are the types of excitation systems? Draw the functional block Wﬁm- and briefly describe the va

elements of the block diagrams 0
Write short note on Power System Interconnection in India. c.

UNIT-V &Q

Explain voltage instability problem in power system.
Explain working and uses of phase shifting transformer. @

What are the different methods of voltage control ?@H system? Explain the working of an on load tap cha
transformer with the help of a diagram. L
Write short note on power system security. Q '
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